(3) [EIFRELZE N2 CER% 27454 A 1 HHAE)
P & 7 % % By g LR R
R T2 A~ () ~ S 1 *jK rj;: H?;)ﬂ'ﬂ G %ﬁ & |Fmas
Bt 01 b 8 8B R~ (TxmER) ~db 8 8 ) 6.30 22 12 23.0 465
B ot 01-2 | FEMMTHE~(FRM=ZTH) ~dt &1 & B 3.63 13 12 6.0 121
Bl 01-3 [t #1 & B~(&" F /)~ FEM_TH 3.73 13 12 6.0 49
w02 |k W OB OB~ (B E K ~MEER™OD 9.96 35 20 8.0 546
] 11 BB R N ~( K # )] ) ~EFEARBRHE A 5.54 19 19 27.0 825
i 12 |@IEERmEO~(K ® ) ) ~# 85 A B 4.80 17 16 1.0 56
1] 13 FIERE O ~(K &) )~8ERE D 4.30 15 12 18.5 504
] 50 HIERKR A~ L #H ) ~H~<OCxD 4.51 16 12 51.0 1,666

BB [EIFRBULEE (BR) 1 3 A0 2 R
RN B, PR 26FEOMM AN BZ#E T HE TR TZABET D

X BAEIIAHEE M



